

## NOTE

# Meromorphic Functions That Share Four Small Functions<sup>1</sup>

Ping Li

*Department of Mathematics, University of Science and Technology of China,  
Hefei Anhui, 230026, People's Republic of China*

E-mail: [pli@ustc.edu.cn](mailto:pli@ustc.edu.cn)

*Submitted by Kang-Tae Kim*

Received October 2, 2000

In this paper, we prove that if two nonconstant meromorphic functions  $f$  and  $g$  share two small functions CM\* and share other two small functions IM\*, then  $f$  must be a quasi-Möbius transformation of  $g$ . This result is a generalization of several results obtained by G. G. Gundersen and Li-Yang. © 2001 Academic Press

*Key Words:* meromorphic function; small function; sharing value.

## 1. INTRODUCTION

Let  $f$  be a nonconstant meromorphic function in the complex plane  $\mathbb{C}$ . We shall use the standard notations in Nevanlinna's value distribution theory of meromorphic functions such as  $T(r, f)$ ,  $N(r, f)$ , and  $m(r, f)$  (see, e.g., [3]). The notation  $S(r, f)$  is defined to be any quantity satisfying  $S(r, f) = o(T(r, f))$  as  $r \rightarrow \infty$  possibly outside a set of  $r$  of finite linear measure. A meromorphic function  $a (\neq \infty)$  is called a small function with respect to  $f$  provided that  $T(r, a) = S(r, f)$ .

Let  $f$  and  $g$  be two nonconstant meromorphic functions, and let  $a$  be a small function with respect to  $f$  and  $g$ . If  $f - a$  and  $g - a$  have the same zeros ignoring (counting) multiplicities, then we say that  $f$  and  $g$  share  $a$  IM (CM). We say  $f$  and  $g$  share  $\infty$  IM (CM) if  $1/f$  and  $1/g$  share 0 IM (CM).

<sup>1</sup> This project was supported by Academia Sinica.



Let  $S(f = a = g)$  be the set of all common zeros of  $f - a$  and  $g - a$  ignoring multiplicities, and let  $S_E(f = a = g)$  be the set of all common zeros of  $f - a$  and  $g - a$  with the same multiplicities. Furthermore, we denote by  $S_{(k,l)}(f = a = g)$  the set of all points which are zeros of  $f - a$  with multiplicity  $k$  as well as the zeros of  $g - a$  with multiplicity  $l$ . Denote by  $\bar{N}(r, f = a = g)$ ,  $\bar{N}_E(r, f = a = g)$ , and  $\bar{N}_{(k,l)}(r, f = a = g)$  the reduced counting functions of  $f$  and  $g$  corresponding to the sets  $S(f = a = g)$ ,  $S_E(f = a = g)$ , and  $S_{(k,l)}(f = a = g)$ , respectively. If

$$\bar{N}\left(r, \frac{1}{f-a}\right) + \bar{N}\left(r, \frac{1}{g-a}\right) - 2\bar{N}(r, f = a = g) = S(r, f) + S(r, g),$$

then we say that  $f$  and  $g$  share  $a$  IM\*. If

$$\bar{N}\left(r, \frac{1}{f-a}\right) + \bar{N}\left(r, \frac{1}{g-a}\right) - 2\bar{N}_E(r, f = a = g) = S(r, f) + S(r, g),$$

then we say that  $f$  and  $g$  share  $a$  CM\*. Obviously, any IM (CM) shared small function must be an IM\* (CM\*) shared small function. And we have

$$\bar{N}\left(r, \frac{1}{f-a}\right) = \sum_{k,l=1} \bar{N}_{(k,l)}(r, f = a = g) + S(r, f), \quad (1)$$

provided that  $f$  and  $g$  share  $a$  IM\*.

In 1926, R. Nevanlinna [9] proved that if two meromorphic functions  $f$  and  $g$  share four values  $a_1$ ,  $a_2$ ,  $a_3$ , and  $a_4$  CM, then  $f$  is a Möbius transformation of  $g$ . Since then many papers have been published on uniqueness theory and sharing values (see, e.g., [1, 8]). Most results on sharing values in the sense of IM or CM are still valid in the sense of IM\* or CM\*. For example, we have

**THEOREM A [1].** *Let  $f$  and  $g$  be two nonconstant meromorphic functions, and let  $a_1$ ,  $a_2$ ,  $a_3$ , and  $a_4$  be four distinct values in  $\mathbb{C} = \mathbb{C} \cup \{\infty\}$ . If  $f$  and  $g$  share  $a_1$ ,  $a_2$  CM\* and share  $a_3$ ,  $a_4$  IM\*, then  $f$  is a Möbius transformation of  $g$ .*

When the shared values are replaced by shared small functions, most problems will become difficult. In 1997, Li-Yang proved the following

**THEOREM B [6].** *Let  $f$  and  $g$  be two nonconstant meromorphic functions, and let  $a_1$ ,  $a_2$ ,  $a_3$ , and  $a_4$  be four distinct small functions with respect to  $f$  and*

*g. If  $f$  and  $g$  share  $a_1, a_2, a_3$   $CM^*$  and share  $a_4$   $IM^*$ , then  $f$  is a quasi-Möbius transformation of  $g$ , i.e.,*

$$f = \frac{\alpha_1 g + \beta_1}{\alpha_2 g + \beta_2},$$

*where  $\alpha_i, \beta_i$  ( $i = 1, 2$ ) are small functions with respect to  $f$  and  $g$ .*

A specific possible form of the quasi-Möbius transformation in Theorem B can be found in [4]. In this paper, we generalize the above two theorems and prove the following

**THEOREM 1.** *Let  $f$  and  $g$  be two nonconstant meromorphic functions, and let  $a_1, a_2, a_3$ , and  $a_4$  be four distinct small functions with respect to  $f$  and  $g$ . If  $f$  and  $g$  share  $a_1, a_2$   $CM^*$  and share  $a_3, a_4$   $IM^*$ , then  $f$  is a quasi-Möbius transformation of  $g$ .*

## 2. LEMMAS

**LEMMA 1** [5]. *Let  $f$  and  $g$  be two nonconstant meromorphic functions, and let  $a$  ( $\neq 0, 1, \infty$ ) be a small function with respect to  $f$  and  $g$ . Let*

$$\psi := (f - g) \left( \frac{f'g'}{g(f-1)} - \frac{f'g'}{f(g-1)} + \frac{f'(g'-a')}{f(g-a)} - \frac{g'(f'-a')}{g(f-a)} + \frac{g'(f'-a')}{(f-a)(g-1)} - \frac{f'(g'-a')}{(g-a)(f-1)} \right). \quad (2)$$

*If  $f$  and  $g$  share  $0, 1, \infty, a$   $IM^*$ , then  $T(r, \psi) = S(r, f) = S(r, g)$ .*

**LEMMA 2.** *Let  $f$  and  $g$  be two nonconstant meromorphic functions satisfying  $T(r, g) \leq cT(r, f) + S(r, f)$ , where  $c$  is a constant, and let  $a$  be a small function with respect to  $f$  and  $g$ . If  $f$  and  $g$  share  $a$   $IM^*$ , and*

$$\bar{N}_{(k,l)}(r, f = a = g) = S(r, f)$$

*holds for all pairs  $(k, l)$  of positive integers, then  $\bar{N}(r, 1/(f-a)) \leq \varepsilon T(r, f) + S(r, f)$  holds for any positive number  $\varepsilon$ .*

*Proof.* For any positive number  $\varepsilon$ , we select an integer  $n$  such that  $c + 1 \leq n\varepsilon$ . It follows from the assumption and (1) that

$$\begin{aligned}
 & \bar{N}\left(r, \frac{1}{f-a}\right) \\
 &= \sum_{k,l=1} \bar{N}_{(k,l)}(r, f=a=g) + S(r, f) \\
 &= \sum_{k+l>n} \bar{N}_{(k,l)}(r, f=a=g) + S(r, f) \\
 &\leq \frac{1}{n} \left( \sum_{k+l>n} k \bar{N}_{(k,l)}\left(r, \frac{1}{f-a}\right) + \sum_{k+l>n} l \bar{N}_{(k,l)}\left(r, \frac{1}{g-a}\right) \right) + S(r, f) \\
 &\leq \frac{1}{n} \left( N\left(r, \frac{1}{f-a}\right) + N\left(r, \frac{1}{g-a}\right) \right) + S(r, f) \\
 &\leq \frac{1}{n} (T(r, f) + T(r, g)) + S(r, f) \leq \frac{1+c}{n} T(r, f) + S(r, f) \\
 &\leq \varepsilon T(r, f) + S(r, f),
 \end{aligned}$$

which completes the proof of the lemma. ■

LEMMA 3. Let  $f$  and  $g$  be two nonconstant meromorphic functions, and let  $a_1, a_2, a_3$ , and  $a_4$  be four distinct small functions with respect to  $f$  and  $g$ . If  $f$  and  $g$  share  $a_1, a_2$  CM\* and share  $a_3, a_4$  IM\*, and if there exists a number  $\varepsilon \in (0, 1/4)$ , such that

$$\bar{N}\left(r, \frac{1}{f-a_3}\right) - \bar{N}_E(r, f=a_3=g) \leq \varepsilon T(r, f) + S(r, f), \quad (3)$$

then  $f$  is a quasi-Möbius transformation of  $g$ .

*Proof.* Without loss of generality, we assume that  $a_1 = 0, a_2 = \infty, a_3 = 1$ , and  $a_4 = a$ , where  $a$  is a small function with respect to  $f$  and  $g$ , and  $a \neq 0, 1, \infty$ . Let

$$f_1 = \frac{f}{a}, \quad g_1 = \frac{g}{a}, \quad f_2 = \frac{f-1}{a-1}, \quad g_2 = \frac{g-1}{a-1}.$$

Then  $f_1$  and  $g_1$  share  $0, \infty$  CM\* and share  $1, 1/a$  IM\*; furthermore,  $f_2$  and  $g_2$  share  $-1/(a-1), \infty$  CM\*, and share  $0, 1$  IM\*. Let

$$\beta = \frac{f'(f-a)}{f(f-1)} - \frac{g'(g-a)}{g(g-1)}, \quad \beta_1 = \frac{f'_1(f_1-1/a)}{f_1(f_1-1)} - \frac{g'_1(g_1-1/a)}{g_1(g_1-1)}, \quad (4)$$

and

$$\beta_2 = \frac{f'_2(f_2 + 1/(a - 1))}{f_2(f_2 - 1)} - \frac{g'_2(g_2 + 1/(a - 1))}{g_2(g_2 - 1)}. \quad (5)$$

Note  $f$  and  $g$  share  $0, \infty$  CM\* and share  $1, a$  IM\*. By (3), we can easily get  $T(r, \beta) \leq \varepsilon T(r, f) + S(r, f)$ . If none of  $\beta, \beta_1, \beta_2$  is identically zero, then

$$\bar{N}\left(r, \frac{1}{f - a}\right) \leq N(r, 1/\beta) + S(r, f) \leq \varepsilon T(r, f) + S(r, f). \quad (6)$$

Thus we can get  $T(r, \beta_1) \leq \varepsilon T(r, f) + S(r, f)$ . It follows that

$$\bar{N}\left(r, \frac{1}{f - 1}\right) \leq N(r, 1/\beta_1) + S(r, f) \leq \varepsilon T(r, f) + S(r, f). \quad (7)$$

By (6), (7), and the definition of  $\beta_2$ , we get  $T(r, \beta_2) \leq 2\varepsilon T(r, f) + S(r, f)$ . Thus

$$\bar{N}\left(r, \frac{1}{f}\right) \leq N(r, 1/\beta_2) + S(r, f) \leq 2\varepsilon T(r, f) + S(r, f). \quad (8)$$

From (6), (7), (8), and the second fundamental theorem, we get  $T(r, f) < 4\varepsilon T(r, f) + S(r, f)$ , which is impossible for  $\varepsilon \in (0, 1/4)$ . Hence one of  $\beta, \beta_1$ , and  $\beta_2$  must be identically zero. It follows that  $f$  and  $g$  share  $a$  CM\*. Therefore, by Theorem B,  $f$  is a quasi-Möbius transformation of  $g$ . ■

### 3. PROOF OF THE MAIN THEOREM

Without loss of generality, we assume that  $a_1 = 0, a_2 = \infty, a_3 = 1, a_4 = a$ , where  $a (\neq 0, 1, \infty)$  is a small function with respect to  $f$  and  $g$ ; otherwise, a quasi-Möbius transformation will do. Since  $f$  and  $g$  share three values IM\*, by the second fundamental theorem, we can easily get  $T(r, f) \leq 3T(r, g) + S(r, f)$  and  $T(r, g) \leq 3T(r, f) + S(r, g)$ . Hence

$S(r, f) = S(r, g) := S(r)$ . If  $\bar{N}(r, 1/(f-1)) = S(r)$  or  $\bar{N}(r, 1/(f-a)) = S(r)$ , then  $f$  and  $g$  share at least three of  $a_1, a_2, a_3, a_4$  CM\* and share another one IM\*. By Theorem B,  $f$  is a quasi-Möbius transformation of  $g$ .

In the following, we assume that

$$\bar{N}\left(r, \frac{1}{f-1}\right) \neq S(r), \quad \bar{N}\left(r, \frac{1}{f-a}\right) \neq S(r). \quad (9)$$

Furthermore, we assume that  $a$  is not constant; otherwise, by Theorem A,  $f$  is a quasi-Möbius transformation of  $g$ . Let

$$\varphi := \frac{f'}{f} - \frac{g'}{g} \quad (10)$$

and

$$\begin{aligned} \varphi_1 &:= \left( \frac{f'(f-a)}{f(f-1)} - \frac{g'(g-a)}{g(g-1)} \right) \\ &\quad \times \left( \frac{(af' - a'f)(f-1)}{af(f-a)} - \frac{(ag' - a'g)(g-1)}{ag(g-a)} \right) \end{aligned} \quad (11)$$

$$\begin{aligned} &= \left( (1-a) \left( \frac{f'}{f-1} - \frac{g'}{g-1} \right) + a\varphi \right) \\ &\quad \times \left( \left( 1 - \frac{1}{a} \right) \left( \frac{f' - a'}{f-a} - \frac{g' - a'}{g-a} \right) + \frac{1}{a}\varphi \right). \end{aligned} \quad (12)$$

By the lemma on the logarithmic derivative, we have  $m(r, \varphi) = S(r)$  and  $m(r, \varphi_1) = S(r)$ . Since  $f$  and  $g$  share  $0, \infty$  CM\* and share  $1, a$  IM\*, it is easily seen from (10) and (11) that  $N(r, \varphi) = S(r)$  and  $N(r, \varphi_1) = S(r)$ . Hence we have

$$T(r, \varphi) = S(r), \quad T(r, \varphi_1) = S(r). \quad (13)$$

If  $\varphi \equiv 0$ , then  $f/g$  is a nonzero constant, and thus  $f$  is a Möbius transformation of  $g$ . If  $\varphi_1 \equiv 0$ , then it follows from (11) that  $f$  and  $g$  share  $1, a$  CM\*. Thus by Theorem B  $f$  is also a quasi-Möbius transformation of  $g$ .

If  $\bar{N}_{(k,l)}(r, f = 1 = g) = S(r)$  holds for all pairs  $(k, l)$  ( $\max\{k, l\} > 1$ ) of positive integers, then by the proof of Lemma 2, we have

$$\begin{aligned} & \bar{N}\left(r, \frac{1}{f-1}\right) - \bar{N}_E(r, f = 1 = g) \\ & \leq \sum_{\max\{k, l\} > 1} \bar{N}_{(k,l)}(r, f = 1 = g) + S(r) \\ & \leq \frac{1}{5}T(r, f) + S(r). \end{aligned}$$

By Lemma 3,  $f$  is a quasi-Möbius transformation of  $g$ .

Suppose that  $f$  is not any quasi-Möbius transformation of  $g$ . Then  $\varphi \neq 0$ ,  $\varphi_1 \neq 0$ . And there exists a pair  $(k, l)$  ( $\max\{k, l\} > 1$ ) of positive integers such that

$$\bar{N}_{(k,l)}(r, f = 1 = g) \neq S(r). \quad (14)$$

Similarly, there exists a pair  $(k_1, l_1)$  ( $\max\{k_1, l_1\} > 1$ ) of positive integers such that

$$\bar{N}_{(k_1,l_1)}(r, f = a = g) \neq S(r). \quad (15)$$

If  $k > 1$  and  $l > 1$ , then  $\varphi(z) = 0$  holds for all  $z \in S_{(k,l)}(f = 1 = g)$ . Since  $\varphi \neq 0$ , we have  $\bar{N}_{(k,l)}(r, f = 1 = g) \leq \bar{N}(r, 1/\varphi) = S(r)$ , which contradicts (14). Hence  $\min\{k, l\} = 1$ . Similarly, we have  $\min\{k_1, l_1\} = 1$ .

Let  $S_0$  be the set of all zeros, 1-points, and poles of  $a(z)$  or  $\varphi(z)$  or  $\varphi_1(z)$ . Let  $\psi$  be the function defined in (2) and let  $z_1 \in S_{(k,l)}(f = 1 = g) \setminus S_0$ . By a simple computation, we have

$$\psi(z_1) = \frac{(k-l)a'(z_1) + \max\{k, l\}a(z_1)\varphi(z_1)}{1 - a(z_1)}\varphi(z_1).$$

From this and (14), we deduce that

$$\psi \equiv \frac{(k-l)a' + \max\{k, l\}a\varphi}{1 - a}\varphi. \quad (16)$$

Similarly, by considering the value of  $\psi$  at the point  $z_a \in S_{(k_1,l_1)}(f = a = g) \setminus S_0$ , we can get

$$\psi \equiv \frac{(l_1 - k_1)a' + \max\{k_1, l_1\}a\varphi}{1 - a}\varphi. \quad (17)$$

The above two equations yield  $(\max\{k, l\} - \max\{k_1, l_1\})\varphi \equiv (l - k + l_1 - k_1)(a'/a)$ , which gives

$$(f/g)^{\max\{k, l\} - \max\{k_1, l_1\}} \equiv ca^{l-k+l_1-k_1}, \quad (18)$$

where  $c$  is a nonzero constant. Since  $f$  is not any quasi-Möbius transformation of  $g$ , and  $a$  is not constant, (18) implies  $\max\{k, l\} - \max\{k_1, l_1\} = 0$  and  $l - k + l_1 - k_1 = 0$ . Note that  $\max\{k, l\} > 1$ ,  $\min\{k, l\} = 1$ ,  $\max\{k_1, l_1\} > 1$ , and  $\min\{k_1, l_1\} = 1$ . We get  $l_1 = k > 1$ ,  $k_1 = l = 1$  or  $k_1 = l > 1$ ,  $l_1 = k = 1$ .

Without loss of generality, we assume that  $l_1 = k > 1$ ,  $k_1 = l = 1$ . Then we have

$$\bar{N}_{(k,1)}(r, f = 1 = g) \neq S(r), \quad \bar{N}_{(1,k)}(r, f = a = g) \neq S(r). \quad (19)$$

Equations (16) and (17) become

$$\psi \equiv \frac{(k-1)a' + ka\varphi}{1-a}\varphi, \quad (20)$$

where  $k > 1$  is a integer. Moreover, we have  $\bar{N}_{(k_2, l_2)}(r, f = 1 = g) = S(r)$  and  $\bar{N}_{(k_3, l_3)}(r, f = a = g) = S(r)$ , where  $(k_2, l_2) \neq (k, 1)$  and  $(k_3, l_3) \neq (1, k)$  are pairs of positive integers.

Let  $z_1 \in S_{(k,1)}(f = 1 = g) \setminus S_0$ . Then  $f'(z_1) = 0$  and  $\varphi(z_1) = -g'(z_1)$ . From (11) and by a simple computation, we get

$$\varphi_1(z_1) = (1-k)\varphi(z_1) \left( \varphi(z_1) + \frac{a'(z_1)}{a(z_1)} \right).$$

Note that  $\bar{N}_{(k,1)}(r, f = 1 = g) \neq S(r)$ . We obtain

$$\varphi_1 \equiv (1-k)\varphi \left( \varphi + \frac{a'}{a} \right). \quad (21)$$

Let

$$h_1 := (1-a) \left( \frac{f'}{f-1} - \frac{g'}{g-1} \right) + a\varphi$$

and

$$h_2 := \left( 1 - \frac{1}{a} \right) \left( \frac{f' - a'}{f - a} - \frac{g' - a'}{g - a} \right) + \frac{1}{a}\varphi.$$

Then from (12) we have  $\varphi_1 = h_1 h_2$ . Note that  $f$  and  $g$  share  $\infty$  CM\*. We can see that the zeros and poles of  $h_1$  which is not in  $S_0$  are simple and comes from the  $a$ -points and 1-points of  $f$ , respectively. Therefore, we have

$$\bar{N}\left(r, \frac{1}{f-1}\right) \leq N\left(r, \frac{1}{h_2}\right) + S(r, f) \leq \bar{N}\left(r, \frac{1}{f-a}\right) + S(r, f),$$

and

$$\bar{N}\left(r, \frac{1}{f-a}\right) \leq N\left(r, \frac{1}{h_1}\right) + S(r, f) \leq \bar{N}\left(r, \frac{1}{f-1}\right) + S(r, f).$$

Hence

$$\bar{N}\left(r, \frac{1}{f-a}\right) = \bar{N}\left(r, \frac{1}{f-1}\right) + S(r, f). \quad (22)$$

Let  $z_0 \in S(f=0=g) \setminus S_0$ . A simple computation shows that  $h_1^2(z_0) - 2a(z_0)\varphi(z_0)h_1(z_0) + a^2(z_0)\varphi_1(z_0) = 0$ . If  $h_1^2 - 2a\varphi h_1 + a^2\varphi_1 \equiv 0$ , then we get  $T(r, h_1) = S(r, f)$ , and thus  $\bar{N}(r, 1/(f-1)) = S(r, f)$ . This contradicts (9). Hence  $h_1^2 - 2a\varphi h_1 + a^2\varphi_1 \not\equiv 0$ . Therefore,

$$\bar{N}\left(r, \frac{1}{f}\right) \leq 2T(r, h_1) + S(r, f) \leq 2\bar{N}\left(r, \frac{1}{f-1}\right) + S(r, f).$$

From this, (22), and the second fundamental theorem, we get

$$T(r, f) < 4\bar{N}\left(r, \frac{1}{f-1}\right) + S(r, f). \quad (23)$$

We define three auxiliary functions,

$$f_1 := \frac{h_1(g-1)}{(1-k)(f-a)\varphi}, \quad f_2 := \frac{(1-k)(g-1)\varphi}{h_2(f-a)}, \quad f_3 := \frac{f}{g}.$$

It is easily seen that  $\bar{N}(r, f_i) + \bar{N}(r, 1/f_i) = S(r)$  for  $i = 1, 2, 3$ . By simple computation, we get

$$\begin{aligned} h_1(z_1)(g(z_1) - 1) &= (1-k)(1-a(z_1))\varphi(z_1), \\ h_2(z_a)(f(z_a) - a(z_a)) &= (1-k)(a(z_a) - 1)\varphi(z_a), \end{aligned}$$

where  $z_1 \in S_{(k,1)}(f=1=g) \setminus S_0$  and  $z_a \in S_{(1,k)}(f=a=g) \setminus S_0$ . Hence we have  $f_1(z_1) = f_3(z_1) = 1$  and  $f_2(z_a) = f_3(z_a) = 1$ . Therefore, by (22) and (23), we get

$$T(r, f) < 4\bar{N}\left(r, \frac{1}{f_i - 1}\right) + S(r, f), \quad i = 1, 2, 3. \quad (24)$$

In terms of Lemma 7 in [7], there exist two pairs of integers  $(m_1, n_1)$  and  $(m_2, n_2)$  such that  $f_1^{m_1} = f_3^{n_1}$  and  $f_2^{m_2} = f_3^{n_2}$ . It follows that

$$\left(\frac{(1-k)^2 \varphi^2}{\varphi_1}\right)^{m_1 m_2} = \left(\frac{f_2}{f_1}\right)^{m_1 m_2} = (f_3)^{m_1 n_2 - m_2 n_1}. \quad (25)$$

Since  $T(r, f_3) \neq S(r)$ , Eq. (25) implies  $m_1 n_2 - m_2 n_1 = 0$ , and thus

$$c(1-k)^2 \varphi^2 = \varphi_1, \quad (26)$$

where  $c$  is constant and  $c^{m_1 m_2} = 1$ . From this and (21), we get

$$(c(k-1) + 1)\varphi + \frac{a'}{a} = 0. \quad (27)$$

If  $f_3$  has no zeros and poles, then the above equation leads to  $a(f_3)^{c(k-1)+1} = c_1$ , where  $c_1$  is a constant. Therefore,  $a(z_1) = c_1$ . Note that  $\bar{N}(r, 1/(f-1)) \neq S(r)$ . We get  $a = c_1$ . This is impossible. Suppose that  $f_3$  has some zeros or poles. By considering the residues of  $\varphi = f'_3/f_3$  and  $a'/a$ , we see that  $c(k-1) + 1$  must be a rational number. Let  $c(k-1) + 1 = p/q$ , where  $p$  and  $q$  are integers. From the above equation, we get  $a^q(f_3)^p = c_2$ , where  $c_2$  is a constant. It follows that  $T(r, f_3) = S(r)$ . This contradicts (24) and completes the proof of the theorem.

## ACKNOWLEDGMENT

The author thanks Dr. Yao Weihong for her valuable advice.

## REFERENCES

1. G. G. Gundersen, Meromorphic functions that share four values, *Trans. Amer. Math. Soc.* **277** (1983), 545–567.
2. G. G. Gundersen, Correction to “meromorphic functions that share four values,” *Trans. Amer. Math. Soc.* **304** (1987), 847–850.
3. W. Hayman, “Meromorphic Functions,” Clarendon, Oxford, 1964.

4. X.-H. Hua and M.-L. Fang, Meromorphic functions sharing four small functions, *Indian J. Pure Appl. Math.* **28**, No. 6 (1997), 797–811.
5. K. Ishizaki, Meromorphic functions sharing small functions, preprint.
6. P. Li and C. C. Yang, On two meromorphic functions that share pairs of small functions, *Complex Variables Theory Appl.* **32** (1997), 177–190.
7. P. Li and C. C. Yang, On the characteristics of meromorphic functions that share three values CM, *J. Math. Anal. Appl.* **220** (1998), 132–145.
8. E. Mues, Meromorphic functions sharing four values, *Complex Variables Theory Appl.* **12** (1989), 167–179.
9. R. Nevanlinna, Einige Eindeutigkeitssätze in der Theorie der Meromorphen Funktionen, *Acta Math.* **48** (1926), 367–391.